ERE24E F140
FEB7E =N\ T4 E v TTILITHB(BFAYSR) BiER

BAfER2012% 118 28 (%) SMA¥86 &4 6218 ¥Y—K PAR 70
R.2EETILEREE
[:{ 72 K £ FIREEE |GROSS| OUT IN | HDCP | NET
1| &2 = O Foy Y NANES| 79 37 42 9.7 69.3
2 | B A &£ © Iz B2 55 O 81 41 40 9.1 71.9
3| vt B OO =ERE 80 37 43 72| 728
4 [ E HFH O = IR 79 40 39 5.4 73.6
5 | 88 K 8 % ®w B 86 43 43 11.4| 746
6 | X B E B % B 87 44 43 11.8 75.2
7 | RBOE 2 — L EILWE 83 40 43 6.6 76.4
8 | A TR IE /NI 82 40 42 5.4 76.6
9 | B & X HEGE 84 40 44 6.9 77.1
10| ¥& 5 BB — $-NWIIET 85 41 44 77 713
mj R it & EILEE 84 41 43 6.6 77.4
12| E # 7 F tRE 87 43 44 95 775
12| & 5 % =F712v9A 86 44 42 8.5 715
14| N B IE = A5 82 38 44 44 77.6
15| K H #8 X HARH 87 41 46 9.1 77.9
16| i @ B At Fz!)—LAY 88 43 45 9.8 78.2
17 | WX K BB b eS| S 88 42 46 9.7 78.3
18 | & & & & V44— R 89 44 45 105 785
19 | W X F X ' F 84 40 44 5.4 78.6
19 | 7/ JIl & 35h HAIET 86 42 44 7.4 78.6
21 | M & R =FHL 89 42 47 10.1 78.9
21| E B @ X Aili# 87 42 45 8.1 78.9
2| K5 — KX B\ = 88 43 45 8.9 79.1
24 | K K & #& BN E 87 40 47 7.7 79.3
24| R O T 87 46 4 7.7 79.3
26| E R B Fxl)—LAY 89 42 47 92 798
26 | & M &R X 2/RE 91 47 44 11.2 79.8
28 | B& & A H—-vENBRR 90 45 45 98| 802
29 | B2 B % Bh I B b 74N 85 42 43 4.7 80.3
| & H I ' F 90 44 46 9.6 80.4
31 | Kk # FTREB I B2 i@ O 88 43 45 7.5 80.5
R | X HEFEE ®IiRC 89 43 46 84| 806
2| F @A X A fEDR 87 45 42 64| 80.6
4 | A Il &= B m = 83 40 43 2.3 80.7
4 | /R B A A=k 89 44 45 83| 807
| £ R X & H & 88 43 45 7.1 80.9
| —F B RE o 86 44 42 5.1 80.9

1/3 hETIILTER



B iz K % FAIB{E%E |GROSS| OUT IN | HDCP | NET
| kR F =2 mooE 86 42 44 5 81
9| W =’ /NI 90 45 45 89| 81.1
40 | H & 1§ $U- ALY IET 87 43 44 5.8 81.2
40 | B W E 17 IAUT4=A 90 47 43 88| 812
42 | B ¥ B # =EA8L 91 42 49 9.7 81.3
B ERAEE = 90 45 45 86| 814
43 | & # BHHE TR v 92 47 45 10.6 81.4
45 | B 0T B /NI 90 46 44 84| 816
46 | = E F 1 W 83 38 45 1.2 81.8
47 | F M £ = NAITIS 89 40 49 69| 82.1
48 | /N F F E A== LS 87 42 45 47| 823
49 | T R 4F & RHERF 92 43 49 9.1 82.9
50 | m 1& BA a5 ik 88 43 45 5 83
51 | 0 %0 3 #t mooE 89 45 44 5.8 83.2
51 | B # & HA mooE 94 48 46 10.8 83.2
53 | /N E TR B ¥ 93 42 51 96| 834
54 | £ H 1 = HEGE 93 45 48 9.3 83.7
5 | & M E & ' F 84 40 44 0.2 83.8
56 | #% £ & = B 92 46 46 7.9 84.1
56 | 5 B F W tRZE 93 42 51 89 841
56 | & K IE i ELSER 89 45 44 4.9 84.1
56 | # & ELAIR 95 49 46 10.9 84.1
60 | B A& 4 Iz BB 74— 95 48 47 10.7| 843
61 | & & — & BASAY 96 49 47 1.3 84.7
62 | X B B 17 H & 91 47 44 6.1 84.9
63| B F & IRy 96 48 48 10.8 85.2
64| X H B =2 LHELWE 94 45 49 8.7 85.3
64 | A # IE X m = 92 45 47 6.7 85.3
66 | B B & AR 91 45 46 55 85.5
66 | = JIl F — HEGE 97 49 48 115 85.5
68 | f H E # fBHER 90 45 45 43| 857
69 | A W E & HATHE 95 47 48 88| 862
70 | # K & 5B Iz BB AN B 08 50 48 11.6| 864
0|(nN=E ZE BIEIR 94 48 46 76| 864
72 | A & OB — AR 93 47 46 6.5 86.5
1| K BEEBE N 97 53 44| 104 866
| &H W ME AR 99 53 46 124| 86.6
B FEF L EHER 93 46 47 6.3 86.7
76 | F F B T BARSA1Y 96 47 49 8.8 87.2
77 | B H x ®iRC 98 50 48 10.7 87.3
78 | & WU A = moox 97 48 49 9.5 87.5
79| & 3 B a4+l 99 49 50 102 888

2/3 R L E S



B iz K % FAIB{E%E |GROSS| OUT IN | HDCP | NET
80 | —A®” — B MEXR 08 43 55 82| 898
80 | B 14 B f§ = R 91 40 51 1.2 89.8
82 | #1 #H R & N 96 50 46 47 913
83 | & A & — ETFBHKE 100 55 45 83| 917
84 | H F = = I A=RES ] 102 54 48 102 918
85 | F B & iE m & 104 55 49 11.7 92.3
86 | ¥ UL = = Jr-LAMEH 103 50 53 7.1 95.9

B BB - VAN =1 ZiE

m#m R = & & Ri5

OHIEZJGAMI —sysTIL T EFHE (UGAT U — N\ T1x vy T3 ADHIBEKRE,
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TR24FE F14E

FE7UE =N T4 X v TTINITRBE(EFAVISR) BER

BAfER.~20124% 118 28 (£)

ShnA$28 4 5893 ¥—K./PAR 70

R.AEETIL7EREE
[:{ 72 K % FrEEZE | GROSS| OUT IN HDCP | NET
1T | AT B+ ©| % %W 87 43 44 13.7 733
2 | E @M F O KRREE 87 43 44 12.9 74.1
3 |XkPF 81 + ©O| F & 94 48 46 15 79
4 | ZF B F H O BHELIEF 86 44 42 6.6 79.4
5 | 8] B EMF BIER 89 47 42 9.1 79.9
6 | F ¥ & F w B 90 48 42 9.6 80.4
7 A M E HE RN E 94 48 46 13.2 80.8
8 | B &€ BEEXF MEXR 920 46 44 8.2 81.8
9 | A W £ K ® 2 93 44 49 9.7 83.3
10| WL & 2 % TR 98 48 50 14.5 83.5
10|t @BED E AR 86 47 39 2.5 83.5
12| = @ % & B4R & 91 45 46 6.4 84.6
13| H B 1 % m % 92 47 45 7 85
14 | BIEZ B F Y4UT4=IR 95 45 50 9.4 85.6
15 | RNl = F (TR 99 52 47 12.6 86.4
16| & & F F Ik B i@ O 97 45 52 10.3 86.7
17| 8 8 B & KEDE 98 48 50 10.9 87.1
18| & NIl BB F & Ig 97 43 54 9.3 87.7
19 | & K 8 F ELAIR 100 50 50 12.2 87.8
20 | E R B F ELTFRSKE 100 53 47 115 88.5
21 | K & FHK= G=k i m] 102 53 49 133 88.7
2| A HEH mAH 95 50 45 6.1 88.9
23| B ff £ G=k i m] 102 50 52 12.7 89.3
24 | N 8 DL BIIER 103 53 50 12.8 90.2
25 | WO & F G=k ] m] 99 50 49 5.9 93.1
26| R B & FoY Y /N 104 54 50 9.8 94.2
27 | B B FEF SA4A X 109 53 56 12.1 96.9
28 | # Wb & X =[TRI 108 52 56 10.9 97.1
#wE =R 2 H (k¥

OHIFXJIGAMI —sysTILTBFHE (JGAT U A — N\ T4x vy TR ~OHIBERE,
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SER24FE F14E
FEB7E =N\ T1Ex v TINIBER(BEFBISR) HiiEgR

BRfER.~2012% 118 28 (£) SA%324 6218 Y—KPAR 70
R, BEEBIIIL7ERE
JIE fiz K 4 FAE{E%E |GROSS| OUT IN | HDCP | NET
1 ®KIE X O E Yy N/NES| 94 50 44| 225 715
2 e B O HFMHE 102 53 49 282 738
3 | B R & B8 O |EBEIMI(—IN 89 42 47 145 745
4 H & IE Bl © H = 95 44 51 18.9 76.1
5 |® A F& = " T 94 49 45 16.3 77.7
6 | £ B = # =FAW 93 46 47 148 782
7 ® E E3 EABIE 96 50 46 16.7 79.3
7| B 2 BEE REZE 96 51 45 16.7 79.3
9 [l B B = ELTFRSKE 101 52 49|  216| 794
10 |8 & & B B = 93 47 46 134 796
m |/ ZE R/ E ;oW 93 46 47 13.2 79.8
12 | /N Il 18 B AN =1 94 48 46 136 804
12 |2 &% E A ELXAR 94 49 45 136| 804
14 | ¥ B ¥ = A=At 94 45 49 13 81
15 | & B & 7 RARH 95 45 50 13.1 81.9
16 |5 N & B —ERE 95 51 44  126| 824
17 |l 3% ZF th W [ 98 50 48 15.2 82.8
18 | H # X BA w F 97 47 50 13.1 83.9
18 |k & — 18 FoY Y /N 99 46 53 15.1 83.9
20 | B M B = = E 99 47 52 15 84
21 | n B #® Reordz—IL 103 49 54 186 844
22 | E K F R JULAAREILX 101 47 54 16.4| 846
23 | ¥ X B & o 112 53 59 27 85
24 | = £ E #& ELAIR 102 54 48 16.9|  85.1
25 | XEEP 1 oH T 100 45 55 14.7 85.3
26 | N E £ s 113 58 55 274 856
27 | & B2 = R 103 50 53 16 87
28 | it BB OB Fx!)—LAY 102 50 52 145 875
29 |El B f@—8B 1T 109 52 57| 209 881
0 | B B &/ E = R 103 51 52 145| 885
31 | 3 8/ th KEDE 115 52 63 22.5 92.5
32 | I H; & B & 116 61 55 19.8 96.2
i E X JY-YEMERR | Ri5

OHIEZJGAMI —sysTIL D EFHE (UGATUE — N\ T4X vy T3 ADHIBERE,
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R4 E F140
78— N\ T1x vy 7T I7BE(EFBYISR) BiER
BAMER.~20124E 118 28 (%)

SMA$ 12 & 5893 v—FK PAR 70

B.2EETIL7EREE

[:{ 72 K 4 FIEEZEE | GROSS| OUT IN HDCP | NET
1| AE F O 2 H 99 49 50 20.7 78.3
2 | B A BEF O BHELEF 100 46 54 21.4 78.6
3 | B XHi O EEtUM I 100 50 50 16.5 83.5
4| B E F O =ERE 101 54 47 17 84
5 | 8 HSH ETHFBKE 103 54 49 16.4 86.6
6 | H NIl R F oW 107 56 51 174 89.6
7| H $ &K F L2EHEE 107 52 55 17.3 89.7
8 | & # 1§ F K 108 52 56 15.7 92.3
9 | B KX K&EF ArERYZY 114 51 63 20.6 93.4
10 | W1 & & F ELEE 122 62 60 26.2 95.8
1" %= #F #1 £ A=At 116 53 63 19 97
12 | m B sh F JULAAREILX 120 66 54 21.6 98.4

OMIFJIGAMI —sysTILTBFHE (JGATUF —N\UT4X vy T3 ~ODHIBEKRE,

1/1

hERTILTES



